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���$�������	���������$	
�	5	��8	���	����$	
�	�	����	���$35�nca çevreye ne kadar karbon sal����
5������� ��;	�	���� �	� �5��;�� $�� ������ �58���$��� ����	������������3�	��� ��������������6
 �����-
�	��c ��� 9�������� �	���;������� 
��$3�� ����m���� 	�
��� çerçevesinde ������ #������ M���������
bulunan gemilerin çevreye ne kadar karbon sal��� 5�����������	�������������5!�	��
�$����3�	��
!�	�������� 8	���������	��� ���9���������6� �����-�0���	c L������� ����	�� ������
�	��� 5�
������ 

��������� 
����������DS	����®” 5������� 5������5���5����������. Öncelikle karbon sal��� için 
�58���$�������	��Sensim® ��38����������������������6��u sistemde karbon sal����� etkileyecek 
�	�� <��
��� 	�
	�� �	�	��	��������� ve bu sis�	�� ������ #������ M������� ind��8	�	;	
� �	
���	�
���	��	�������6� ���� �3���� 8	�	�� $��� !�8!�� ����������� �	 3����������� ����	���� �3�����������
test edilmesi �9�����������
�5	����������
��������;���9�
����n Türkiye genelinde var olan karbon 
sal������ �	�	��	�� ����	�	� 	
�	�������.
 $��9����c
 ��� ������������ �3���� #������ M�������� 8�����
5����� 8	���	���� $	
�	�	� ���	��� �	� $�� $	
�	�	� ���	��� $35��ca :	�	���!��	������� 8	���
makinelerinin karbon sal������� �	���������
 ����	�	� 8����������. `	�	���!��	��� ve makinelerin 

����38����� ��;	�	�	rek çevreye ne kadar karbon sal��� 5����
���� �	����� 	���������.
 �����c ���
sistem 5�
���������	 $!�8	�	
��
��$3� sal��� ��
������	��������� �	�8	�	;	
�5��������������#������
M��������� karbon sal�m� ��
�������� �������� $������� 8	��� ��5����� 8!�	� ������ �	���	$��	;	���
��

�����$���!�8!���5����������6 

���;���
/���	����c ������#������M�������>���	��������
�	�������$3��>����� 
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���
�5	7�	� 	
3�3��
� 8	����	�� ������ ��<����� ����5�9������ ���� ��;��	��	
�� büyüme �	� $!�8	�	� 5	��
����� ������
�	��	� $����
�	� 8	�	�� 3����
� ���������� �	� !�	�� 3����
� ��� �	���� ������������ �	
�!��	���
$�5��	
�	��8	�	��3����
����9��	�!�	��3����
����8	��� ���<��i 53�������������
�����6 Hizmetteki 
8	���	���� �����	����� �����
��� $��� �	
���	� ���������
� �	� 5	��� 5�
� ������ 5����
, ülkede liman 
����5�;���� �3���������6� Türkiye’de $�� ����5�;�� 8��	��	
� �9��� $��93
� ������ ������� 5�������� �	 
������#������������ $��������	��!�	����	����	��$��� �����	�8	�������6��� �������5����9���	�$��93
�
8	���8	��	
�	��	�$	����$������	�$����������$	
�	�	�5����
�����6����8	���	����$	
�	�	����	�	���
yük $3�������� 5�
 alma ya da $�
��� 3����� ���	�	���	� $����� 3����
� �	����	
�	���6� �� süreler 
boyunca gemilerin ana makinelerinden ve yard��;�� ��
��	�	����	�� 
��$3�� ������� �	5�����
gelmektedir. Gemi ��5������
�� ������ ������� 
��$3� sal��� ��
������� !�	���� !�9��	� �������
�����6�
���	�	�� ���������� $	���� $��� !�9��	� �	� 5�������������� �9���� yeni in��� 	���	�� gemilerde makine 
8�;�����5���������9	��	5�	�$�����
�3���������!�	����$���gereklilik 3����
��	�	��	�������	
�	���6 

���$3������������	��$�5�
�	�
��������5�����3����������;�
��������3������	��5	�	�����������	�
9�
���������6� ��� 5���	�� ���5���� �������� �	���� 	����	$���	��� �9���� 
3���3�� ������� ���������

��



8	�	
	��	��!�	����!�9�����6 Her bir uzman 
	�������������
��$3���������� 	�
��	5	��<�
�!��	���
$	����	�	
�	��	�$�������������;��5!��	�9����������5����
�����6����9������da *8	��!�8	������
!�	���� �������������� $������ 3���� #������ M��������� $	
�	5	�� 8	���	���� çevreye karbon 
sal��������� ���������
� amac�5��� uygun bi�� ����	�� �������� modeli ����������� �	� $��� �������
8	�9	
�	������������6 

>������"�
3���	�
�

 
*�	�:�� �	
�!���� ��
	�	���� ilerleme �3����
������ �9���	� ��5���� !�	�� ����5��� �����	:�
� $��� �����
���	������	���6 *�	�:�5	� 3���� ����5�;��� ���	
��� ��������� ��;�
� 
�5��
������ 8��	�	
� ��������� $���
3��������	�	�:��
�5��
�������������	�
���$����	
���	�
������������!�	��
������
�����6�*�	�:��
verimli����� 
�������� 	�	�:����� ��	���� �	� ��
	����� ���������� 5������� 9������������ �������
�9	���6����9����������	�����
�5��
�
��������5���	��<�����	�	�:����	��	5���	��5�����
����	�	�:��

����������
������<�������	����8	�9	
�	�����	5� ���9����-Q������	�#
�	�����'))P=. 

*�	�:�� �	�����������	
�� ���� 8	����	�	�	� ����	�� ')0)� 5������� 
��	�	�� 	�	�:�� ���	$�����
$�8��
�����'�
����3������$	
�	��	
�	���6����
��	�	����<�����������	�	
3�3��
�$�5��	�����
���	8	�	�� 
	���	��	���� 3������ 
����� ���	
	�����
� �	� 	�	�:�5	� $����� ����	��	�	� 3���� ���	��
����������
�9���������3��;����6�������	����<�����	�	��
��	�	���������'ºC’�������������������
�
isteniyorsa küre�	���	���8����	���53���������5���5����������	���8	�	
�	
�	����-_*O��')(%=6    

E�	�:����	�����	�5�������5�������
	�	����
��$3������� miktar�����5����������5����3����3��������
3����
� �����
�����6 ���$3�� ������� ���5�� �9��� !�	���� $��� �	����� 3��������
�����6 ��� 
3���
��

�����9	��������
	�	��$��93
�������
�	���	������������
����	�$�������
���35���������
�����6 
���9������������	��!�	����	����	��birisi de Hollanda’da 9	��	�	�� ���������
�	����	�	��	�����	�
8��$�����')(%� 5������� 5�5��������� ���3����6 ��� ���3�������5�����!�	������
	�	������(HH)� 
(HH0� ')))� '))0� ')()��	�')('�5����������9	��	5	��	�
����� ����m 5���������8!��	��	
�	��� 
(2�M�Q	��	�������*����3��	�����#��	���	���#8	�;5��')(%=. 

Tablo(7�	� (HH)� 5������� #��7���� 
��$3�� ���������� 	�� !�	���� ��5�� 3����������� 8!����	
-
tedir. ��	��	5	�� 5�������� L��� 
��$3�� ���������� 	�
������ �������� ')()� 5�������� �3���� #��7����
!���	�8	9������6�#������$���������
	�	����	��	�C��5�7���(HH)��	�')('�5����������93
�$�5�
�
�	������3�����
����	�����3����
�9�
��	����
��
�	����	�
��$3�����������������;��5!��	���6 

��$�3�( ���5���
��A	�������
�
	�	�����	������������������$3��>������ 
���5���3��O3' 1990
 1995
 2000
 2005
 2010
 2012


�$*
 &6HH 06'P 06/I 06H& 060 06(H 
��	��,�
 (6)' )6H' )6/I )6/0 )6/' )6/( 
��9������
 )60H )60P )600 )600 )60( )6&H 

6��
 '�0( %�0' %�0P 0�/0 /�I& H�/P 
D�
,�
 2,44 (�I0 (�PP (�I' (�I( (�II 

3�1��	
 ''6I '%6P '06& 'H6% %% %&60 

��5��
,�2�M Q	��	�������*����3��	�����#��	���	���#8	�;5��')(%. 

Tablo'7�	�8!��������8�$��TÜ�� Türkiye için 
��$3����������
����������8!��	�	� $������3��5�-
5����������6 ������3���8!�	�(HH)��	�')((�5���������������
�����	9�	 Türkiye karbon sal����da 
������$���	������8!��	�������. Türkiye karbon sal�������$�5�
�$���������3������������	�����	��
$�5�
��	��	��	��	�
�5����5��;��
��$3����������
�����3���
9������� -�
��� ')('=. 

Tablo 2 ���
�5	7�	��	������������������$3��>�������� 

���53��3��OG2 (HH) (HH0 '))) '))0 ')() ')(( 
3"���,�
 (//6&% '%/6/' 'H/6'( %%)6H/ &)'6( 422.42 

           ��5��
,��"����')('. 

��



V	
���(7�	�(HH)��	�'))&�5������� ��������������������	
�!������
��$3������m�����
�����������
8!��	���������. ��� �	
�	� 8!�	� 
���53��� �������� 
��$3�� ��������� $�5�
� $��� ���9������
3��������
�����6��	���;���
��	
�!�����	�
��$3������������(HH)�5�������J'��	�'))&�5���������	�
J%���
�$�����5�3������������ -�
��� '))P=. 
 

 
 

V	
���( ���
�5	7�	��	���������������"���������>	
�!���������$3��>��������������� 
��5��
,��"��, '))P. 

��8�������������������	�������	��	;�������	���	��3�����	��������5�
������-WFG-W	��5�F�	��G��=�
8	����	�
�����	��	����	�����	�	�:��
�5�����3����
�
���������
����r. #5��;��������������	����
���	��5�
�������-��G�-�����	���	�	��G��-+��AG�–�����	�A���G��-=�5�����;�����	����
��	�	��
�9����	�������3�	���53������������nda 
���������
������-Z*#��')(%=6 

��� 5�
������� 	
� 3����
� �3�� ����������� 8	���	��	� $�y3���	�� 5�
��� 
����������� ����
�� 
9��������� ��� 5������
�����6 ��� 9������������ $iy3���	�� 5�
����� 
��$3�� ��������� ���	��
5�
������� 8!�	� ����� ��� 3������ ���������
� $�53���	���� ����5	�� �	� �3:����
� �9����� 
���������
��;	�	��	
�	����-Q������')(&=.  
 
���
�5	7�	� �	���;����	� �	���	�� !�	���� �������5��� $	��$	��� ���
�5	7�	� $������� �����������
<��
��� ����	��	��	� $��93
� 8	��� $������
�����6 V	
��� '7�	� 8!�������� 8�$�� $�� �����������
$����;������ ��������� 5	�� ���� #������ M�������� $��� 5����
� ���	� �9���	 (&� <��
��� �	��������	�
�3������ binler;	� 8	��� 8����-9�
��� 5����
�����. V	
��� '7�	� '))0� �	� ')(&� 5������� ���������
���8�� 5����� �	� 
����� 8	��� $��������� 8!��	���������6 ��� 5������ ��������� 8	��� ��5������� 93
�
$�5�
� ���8���������� 3���������� ����	�� 	�� <����� 8	��� ��5������ ')('� 5������� �������������
-#������M��������
��������')(0=6 

 
 

V	
���' A	���W��	
	��	���-#�	�+���= 
                                          ��5��
, #������M��������
��������')(06 

�	



+���� 

��� ������������ ����	�� ������
�	��� 5�
������� �58����������6� >���	�� ������
�	��� 93
� ;�����
5!�	���� ��3$�	��	����	� 5������ 3��������� $��� 5�
��������6 >���	�� ������
�	�� ���
	��
�����	:��	����	�� ����������� $�����
��
� ����	��	���	� 
����� $��93
� 
3��5�� 	�	� ����
������ �	�
�	����8�� $��� ������
� ����	�� �9��� 
��������$����6 W	�� ������ �9��� 
	����	� !�8�� $��� ����	��
�������� modeli 3����������6 ����3�	��	��� 
�����������5��� ����	��	��	 3�������	����
��
�	� 
kolay��
�� belirlenir ve en 
���� ���	�	� �������	� 	���	$����6� ��� ��5	�	� ������ �	 maliyet 
�9��������<�5�����������6�U�	��	 b��5�
���������������;�������$�5�
�$�����������5���5!�	����
�3����
���������	�3�8������53��5����������3��������
��r (>�	����, ')))=.


M�#��
��
�,9���	�


��� �������� #������ M�������� 8	���	��	�� 
�5��
�� 
��$3�� �������� bulmak için uygun bir 
�3�	��3����������
�����6�"58����3�	����3��������������9�������	��5�
��������	�$��5!��	��	�
8	��������	�� S	����¨ 5�������� 
���������
�����6� ��� ��38������ �	���	���� 5	��	����	$��	;	���
9	������$����
����	
�	�������6 V	
���%7�	
������	��	�8	��������
��	�8�;���	��<�5��������
��	�

�����5�
�����
	���������	�$��5�
�����
	�����������������$	
�	�	����	���	�$�����3����
�9	��	5e 
ne kadar sal���5��������3�	��	�������6 

 

V	
���% #������M����������	
�	5	��A	���	�������$3��>���������S	����¨ �����������	�
�3�	��	��	�� 

>�	��#�
$����,��
��	������
+�����
/�����9�������
��.����	�
�
 

M������� $	
�	5	�� 8	���	���� Z�G� ������������� 8	���	��n ay������� bilgisine 
	�����	$���	
�	���6� �u sayede geminin ���8�� marka ana makine �	� :	�	���!�� 
����������� 

	�



bilgisine ��������
�����6� "�������� ��
��	� �	� :	�	���!�� $��8��	���� 
����38����� ��	��;� <��������
tedarik edilmektedir. ���
����38������<��
����	�����������������
��	�	��	��	�	���	��8�;	�8!�	�
5�
����	�5�����
	������	���	���������
�����. 

Tablo 4’�	� �#Q� <���������� ��	����� >P)�O-O/ �3�	�� ���� ��
��	���� �	���� ������� $�����
3����
���	������8�9�8!��	���������6 #5��;���	�����������$�����3����;�
�	<	
��<�$����9 ve silindir 
��5������8!�	���	���	��8�9��	�	��	���$	������������ -�#Q��')(0=. 

Tablo 4 �#Q��]_�>P)�O-O/��3�	��Gemi #�� ��
��	���A�9��	�W����	�	��	�� 

�	��	�����	�
Q3
������ 

��
��	��	����
W����

-�	���+��
�
�= 

G��������
*<	
��<�
�����9����
-$��= 

A�9-
N= 
>������� >�5��� 

0 P I / 
M( ()0 ') ((H)) (&'/) (PPP) (H)&) 
M' ()0 (P H0)) ((&)) (%%)) (0')) 
M% /H ') ())0) (')P) (&)I) (P)/) 
M& /H (P /)0) HPP) (('I) ('//) 

         ��5��
,��#Q��]_�>P)�O-O/���
��	 �����3����')(06 

��$�3�07�	��5����3�	��������
��	����!�8���5�
�����
	�����	�	��	���8!��	���������6 �����5	�	�
<��
���8�9��	�	��	���	�8!�	�������
�5�
�� ��
	�����	�	��	����	�������$���	
�	���6 

��$�3�0 �#Q��]_�>P)�O-O/��3�	��A	�����
��	 ��
����	����������������
	����
��
���� 

Yükteki 
�	��	����
Q3
���� 

U�8�����
�����
	�����
-8+
_�= ��
��	��������
	���� 

Yüksek 
S	������

���$3���:�� 

�����
�
���$3���:�� ��
����
�

����	��5����
-8+
N�= 

>������������ 

())J /)J ())J /)J �	
���
�>��������
��������� 

�#Q��]_�#�����
>����������������� 

M( (I) (PI (I' (PH 

)�(0 (-(�0 )�I M' (P% (P) (P0 (P' 
M% (I) (PI (I' (PH 
M& (P% (P) (P0 (P' 

      ��5��
,��#Q��]_�>P)�O-O/���
��	������3����')(06 

Tablo P7���:	�	���!��	����9�������
������	�	���	��	�8�9��	�	��	���	�8!�	�3��������5�
���
��
	����	���$	������������6 �����$�3����5������������
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Tablo /’�	� 
���� ����������� verilen 8	���	���� (� ����� $35��;� #����� M������ �9���	� ����
��
��	�	����9�������������������3��alama karbon sal���������$�3�&� 0��	�P7����<�5����n��arak 
�������
��8�$���	������������6 

�3���� #�����
��	�A�;��-�w= ¬(&'))) kw (��$�3�/=. 
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���
���������¬'%&0)kg ¬'%�0 ton 
W��;����� ��
��� ��
������� A!�	� ���$3�� >������ (/� gemi için '% �3�� 5�
��� 5�������
¬I) kg karbon sal����3���5��9�
��
����� (��$�3�I=6 

Ta$�3� /7�	 limanda bekleyen gemil	���� 
�������
����� :	�	���!��	���� 8�9 �	�	��	�� 
belirtilmektedir. 

��$�3�/7�	
���	�	��	��
����������
��	� :	�	���!��	����J0)�
������	5�	�9���������
�$���	���	�	
�
�������
���	�����������5����������6 

`	�	���!��	���9����3�����A�9�-�N=��9���5�
�����
����¬ ()))�8��3��((�8��3�\&�0&P)H�
litre=��3�������:	�	���!��	����5�
������;������
�����¬&P))
8¬&�P��3� (��$�3�P=. 
W��;����� 5�
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M��	������ ������������ ���5����� ����5�� ��������� !��	� 8	�	�� ��
	�	���in karbon sal�������
8!��	��������	 Türkiye’nin karbon sal������
��
3�����8!���������6�#���������9	�9	�	����	 
����	��	
�� 8	���	�� $	����	����� �	� $�������� ��
��	� 
����38����� ��;	�	���� 9	��	5	� ne kadar 
karbon sa�����5����
���� 8!��	���������6�����	���	��	��53��� 9�
�����
��58���$����3�	��#������
��������9����5�����������6    

#�����������������������	���	�	�8!�	�5����
�3��������&)))�8	�� #�������������� ������
�����6 
#5�� zamanda 'I6)&.')(0� ��������	� ������� 8��;	�� $��8��	�	� 8!�	� #������ M��������� H) adet 
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�����6 "58������� �	�3���� �3��;����� (/ 8	������(� ����� �9���	� 9���������
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8� 
��$3�� ������� 5������� �	����� 	���������6�  ������� modelden 
<�5����������
 #������ ������� �9�� 5����
� 3������� karbondioksit sal��� ��
���� ¬ '0� ton’dur. 
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5�
������ 8	�9	
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�	���6 

/�,������


#�>�S	��	��C	;3��.(')(0= NNN6	�8�	63�8+��<	�	�+�	;3��+�	;3����	��	��	��;� 

#������M��������
������.-')(0= NNN6����8��	���;���
683�6��+��$	���	��56���R[��\%P 

��	�	��>	���;	�]�>����5 O3����56-')(0= 
NNN6��	�	��	���;	��������56;3�+�	��+<�	��;3�������3��;����6��< 

Z*#�-Z��	�����3����*�	�85�#8	�;5=6�-')('= _3����*�	�85�G���33
6�#.�.D. 

Z�G��*2O6-')(0= �	����L	��	������3������3���	������$3��*���53���C��3��� 

>�	����, J. D. -')))=������	����5����;������
��8������3�	���8�<3����O3���	R�_3���, 
�����;���	����Z�������	�3<��	;��3�385��"6>6 

�#Q������	�*�8��	6-')(0= 
NNN6�����	�	����$36;3�+�3N��3��+��3:	;��8���	����	�'+�����	�+�P)�;;/6��< 
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